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N.B. : (1) Question No.1 is compulsory.
(2) Solve any three from remaining questio
(3) Assume suitable data if necessary. y
(4) Figures to the right indicate full mark:

1. Answer any Five :
(a) What is the difference between 1dcal source an actual uomc-e? Lilusty

concept using the V-I characterlstlc \s volta

L ad', ’ \d‘ln seneé Wlth Zl, the current become half of the orlgmal and lead the
oply ,voltage by 20° Determine Z,. :

TURN OVER
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(c) Determine the potential difference V g for the glVQ

fhev chrrent through the resistor, inductor (pure) and 04
20 A 15 A and"4() A respectlvely What is the current taken from

08

/na; ‘ofneter véltmeter 1s 41.1 V and with one source reversed 17.52 V.
the phase dlsplacement made zero a reading of 42.5 V is observed.

TURN OVER
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5. (a) Prove that the power in a balanced three phase ds =
deduced from the readings of two wattmeter. Dr

OC teston LV side
SC test on HV side

6. (a) Threeidentical coilse ch_, ving-a react 08

connected in star;across a 440 V three - phe

06

06

h stirfdiagram for lagging power factor.
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